
CMIEL /ME
Kod Betyg sum 1 2 3 4 5 6 7 8 matlab
737 F 11 3 3 3 0 1 1 0 0
757 F 8 0 0 3 3 1 1 0 0
740 F 11 0 3 1 3 2 0 0 0 2
850 F 0

E 16 2 3 0 4 3 4
 303 C 21 3 1 3 3 2 4 4 1
713 F 2 0 0 0 0 0 0 0 0 2

F 4 3 0 1 0
736 FX 13 3 3 3 0 3 1 0 0
306 F 2 0 0 1 1

 210 F 2 1 0 0 0 1 0 1
748 D 18 3 3 3 3 3 3 0
711 F 8 2 3 3 0 0 0 0 0
818 F 10 3 3 0 3 1 0 0 0
824 FX 13 0 3 3 3 3 1 0 0
715 F 4 0 0 3 0 1 0 0

CINTE  /IT

115 C 22 3 3 3 3 4 4 0 0 2
750 F 10 3 0 3 0 4 0
400 FX 13 3 3 3 0 4 0 0 0
714 E 14 3 3 3 0 4 1 0 0
 234 E 14 1 3 3 3 4 0 0 0
851 F 5 0 0 0 3 1 1 0 0

F 10 2 0 2 0 3 3 0 0
746 F 6 0 3 3 0 0 0
735 F 10 1 3 1 0 1 2 0 0 2
855 F 12 1 3 3 3 2 0
724 F 9 0 3 3 0 2 1 0 0
747 F 9 0 3 3 3 0 0
830 E 14 3 3 3 0 1 4
722 F 11 3 3 3 0 0 0 0 0 2


